EST NEST ROBOT CONTEST
Robo(sN 2020

L AF2 —NL griiEsR - N

RNO8 310 1 4:17:00 1
RNO9 285 2 6:00:00 2
RNO3 240 3 4:10:00 3
RNO5 240 3 6:00:00 4
RNO6 205 5 6:00:00 5
RNO7 200 6 5:46:00 6
RN10 155 7 3:42:00 7
RNO04 131 8 6:00:00 8
RNO1 125 9 6:00:00 9
RNO2 75 10 6:00:00 10




R1FERGER

J1—JLRB 2 § 2 0 0 § 6: 0 0

J14—J)LRA RNO1 EE AIh 0 1224 ES KB 2 0 0 ESile 6:00:00 60 20 0 45 0 0 125
T1—J)LRA RNO3 E2lbed 224} 0 22u] 224} 224} 0 ##B, #%C 0 2 ESiie 4:10:00 120 30 15 75 0 0 240
J1—JLRB RNO4 Elb-3 BRIh 2 224} 22%)] BIh 1 #*C 0 0 KEL 6:00:00 41 30 15 45 0 0 131
J14—J)LRA RNO5 EE AIh 0 1224 j22%)] RIh 0 1A, 1378 0 0 ESile 6:00:00 120 30 15 75 0 0 240
J1—J)LRB RNO6 E2lbed 224} 0 ESil ESi ESiie 2 A, #%B, #RC Ra, Rb, fRc 0 1 ESiie 6:00:00 60 10 0 135 0 0 205
J14—JLRA RNO7 Elb-3 BRIh 0 224} ESi KB 2 #*C iRa 0 0 BIh 4:21:00 60 20 0 45 0 50 175
J14—J)LRB RNO8 EE AIh 0 1224 j22%)] RIh 1 #%B, #&C iRa 0 1 ESile 6:00:00 96 30 15 75 0 0 216
T1—J)LRA RNO9 E2lbed 224} 0 22u] 224} 224} 0 A, #%B, #RC Ra, fRc 0 1 ESiie 6:00:00 120 30 15 120 0 285

R2ERIXHER

J1—I)LRA 2 § 2 0 2 f 3:59: 5 0 0

J14—JLRB RNO2 HiE KEL 2 ES ESi KEL 2 0 0 ESile 6:00:00 5 0 0 45 0 0 50
J+1—ILRB RNO4 iz 224} 0 j24u] B ESile 2 B 0 2 B 4:24:00 60 20 0 45 0 0 125
J1—I)LRA RNO3 E2lbed 224} 0 j24u] 224} 224 1 #%B, #%C iRb 0 0 S 6:00:00 96 30 15 75 0 0 216
Ja—ILRA RNO5 iz j22%)] 0 224} j22%)] KEL 2 Rb, fRc 0 0 ESile 6:00:00 60 20 15 60 0 0 155
J+1—ILRB RNO6 iz ESi 2 j24u] B ESile 2 1A, 1378 Ra, fRc 0 1 B 6:00:00 5 10 0 90 0 0 105
J1—JLRB RNO8 E2lbed 224} 0 j24u] 224} 224 0 A, #%C iRa, iRb 0 1 24Y] 4:17:00 120 30 15 90 0 55 310
J14—JLRA RNO7 HiE j22%)] 0 224} ESi KEL 2 A, #3B, $&C $Ra, iRb 0 2 KEL 5:46:00 60 20 0 120 0 0 200
J+1—ILRB RN10 iz 224} 0 j24u] 224} ESile 2 Ra, #Rb 0 2 ESile 3:42:00 60 20 15 60 0 0 155
J1—I)LRA RNO9S E2lbed 224} 0 j24u] 224} 224 0 A, #%B, #RC Eiild 0 0 S 6:00:00 120 30 15 105 0 0 270




